Year 5 Homework, Autumn Term Week 8
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Maths: Speedy Six
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4321+ 332 =

874 — 554 =

4x6 =

88 + 11 =

What is 325 x 10?

What is 50% (half) of 90?
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Keep practising your times tables. This week we will be looking at the 12s.
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Quick Comprehension: Complete the sheet ‘A Space Adventure’. Children should allow themselves one

minute to read the text, and five/ten minutes to answer the questions. Some of the questions are quite
tricky, so don’t worry if you have to talk them through with an adult.
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Sgellings Optional SPAG question (1 housepoint if
completed)
Core Support
children fairness Insert the correct word from the options given to
childish kindness complete the sentence.
childhood tidiness
forgive silliness i :
forgiven well Stop leaning my display!
unforgiven tell
through fell
thought still ~ beside
sincere pulled
sincerely miss s against
¢ through
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Homework is due in on 17" November.



